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NO | musmsess| BEX T HZI- 15/ 2 #H 79Uk -5
1 9:00 8:40| 1AKRAT |/MFERZF4X100R 1.2 F E 240~ A8
2 9:10 8:50| 1BERT [/MNEREF4 X% 100R 1.2 T = 240~ A8
3 9:20 9:00( BT |HFFERZF4 % 100R 1.2 F E 240~ A8
4 9:30 9:10| KT |PERFEF4 % 100R 1.2 3 = 24AA"ANS
5 9:40 9:20| HBEFT |BF4x100R 1.2 F E 248~ A8
6 9:50 9:30| BER |/MEH&ZF100m 1.2.345 ¥ & 5%AA ARS8
7 10:05 9:45| BERT |/MERBF100m 1.2.3456 F E 6%~ A18
8 10:20 10:00 #ALKRT [FFEZF100m 1.2.34 EIL—R | 44~ AMG
9 10:30 10:10( $A&KFRT [FFEHEF100m 1.2.3456 BIL—R | 6#HA'AMG
10 10:50 10:20( 23— Mith /[ — % 22 F100m EIL—R | 4#HAAME
13 11:05 10:45| 24— h /| — A% 2 F100H BIL—R | 3#HAAME
14 11:15 10:55|24—th ;2| GP 2 F100H ¥ = 3tH27F+10
15 11:30 11:10(R3—Mth ;[ — A% 55 F110H BIL—R | 5#AAME
16 11:45 11:25(25—Mt =|GP B F110H ¥ = A4H175+12
17 12:00 11:40(249—ith 55| GPZ& F100m F E 440155 +12
18 12:10 11:50( 23—t =|GP B F100m ¥ = A4H175+12
19 12:30 12:10(R3—Mth /= [— #% 55 F100m EIL—R | 134~ A6
20 13:10 12:50| $B&FT (X FT63 100m

21 13:15 12:55| &R [&ZFT11/T12/T13 100m

22 13:20 13:00( #B&FT [BFT12 100m

24 | HIBRR (FP—ARFE - XY =2 - XERM - TAF—) |[Fitdomncncngs -
25 13:30 13:10| 23—t s ZcF100H $2L-AA-B 248

26 13:40 13:20| 24—t 52| GPZ F100H RBBA-B 2+

27 13:55 13:35|29— Mt [ B F110H #2L-AA'B 248

28 14:05 13:45| 24—t ;= [GP 5B F110H RESA-B 248

29 14:20 14:00( 23—t |R| GP 2L F100m REBA-B 248

30 14:30 14:10|A4—th ;= [GP 5B F100m RESA-B 248

31 14:50 14:30| $BERT |/NFEHREF100m R OB

32 14:55 14:35| HBERT [/MEHREBEF100m R OB

33 15:00 14:40| $BEFT |FFERKF100m 2L-AAB 248
34 15:10 14:50| HBERT (P2 EBEF100m #2L-2A'B 248
35 15:20 15:00| 23—t ;[ Z2F100m #2L-AA-B 248

36 15:30 15:10| 29—t 2| BB F100m E2L-AA-B 248

37 15:40 15:20 $AKRAT [/MVFERZF4 X 100R R B

38 15:45 15:25 $ALKAT [/MERFBF4 X 100R R OB

39 15:50 15:30| &R |FEHZF4 X 100R RO

40 15:55 15:35 $AKAT |PFEHKRFEF4% 100R R OB

41 16:00 15:40| BE&EFRT [&ZF4Xx100R R B

42 16:05 15:45 $ALKAT [BF4x 100R R B

43 INEETF-BF4X100mR RER




